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�������
� �	�#���	� �
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�
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��
���	 ��	�� �
�������� �
��	
�� �� 
����	
�� �	������� �������� ����
�	������� ���
������ �	� �!����� ��	"	 �����#�$ �	������ ��	�� 
����	
�� �	��%
��&��' �	�����$ 
������ � "	
���� ����� 
	
��
���	 � ���!� (�)� *��	��
�	��#&�
���	
 +��$	����� � �����$���� (,)� 
	��
��	 ��	���� ��	 
�����
�$ �� -����	��� ��
�
����	��&�� 
�����
�$ ���$	�	"	 �	������� �����&��	"	 ���������

.�'�� Ω � 	/��
������ 	/��
���

Ω1 = {(x1, x2) : 0 < x1 < a0, 0 < x2 < b}, Ω2 = {(x1, x2) : a0 < x1 < a, 0 < x2 < b}
� �	����� Γ = {(x1, x2) : x1 = a0, 0 < x2 < b}�

0	�"�����	 � !����
�� Q = Ω× (0;+∞) ��������

utt +
2∑

i,j,k,l=1

(
a
kl(m)
ij (x, t)uxkxl

)
xixj

−
2∑

i,j=1

(
b
(m)
ij (x, t)uxj

)
xi

+

+c(m)(x, t)ut + h(m)(x, t)u = f (m)(x, t), 1�2

x = (x1, x2) ∈ Ωm, t > 0, m = 1, 2� � �	&���	���� ��	����

u(x, 0) = u0(x), x ∈ Ω, 1,2

ut(x, 0) = u1(x), x ∈ Ω. 132
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������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

*������	� 4	 �	� �!����� �������� 1�2 ���	
��#�$
� ��� x2 = 0 :

am0 xαm
2

2∑
i,j=1

η2ij �
2∑

i,j,k,l=1

a
kl(m)
ij (x, t)ηijηkl � am1 xαm

2

2∑
i,j=1

η2ij , 152


� 0 < αm < 2, am0 > 0 
�� �
�' η ∈ R
4, (x, t) ∈ Q(m) = Ωm × (0;+∞), m = 1, 2�

6���!�� u �	����� ��
	�	�$���� ���� "����&�� ��	�� 1������	 ��
 ����&��� αm27

{
u(0, x2, t) = u(a, x2, t) = u(x1, 0, t) = u(x1, b, t) = 0,
ux1(0, x2, t) = ux1(a, x2, t) = ux2(x1, 0, t) = ux2(x1, b, t) = 0, 0 < αm < 1;

1�2

{
u(0, x2, t) = u(a, x2, t) = u(x1, 0, t) = u(x1, b, t) = 0,
ux1(0, x2, t) = ux1(a, x2, t) = ux2(x1, b, t) = 0, 1 � αm < 2, m = 1, 2.

��� 8����	9  ���!�9 u ��
��	 ��	�� 
��������

[u]Γ = 0, [ux1]Γ = 0,

2∑
i,k,l=1

(
a
kl(1)
i1 uxkxl

A1 − a
kl(2)
i1 uxkxl

A2

)∣∣∣
Γ
= 0, 1:2

2∑
j,k,l=1

(
(a

kl(1)
1j uxkxl

)xjA1 − (a
kl(2)
1j uxkxl

)xjA2

)∣∣∣∣
Γ

−
2∑

j=1

((
b
(1)
1j A1 − b

(2)
1j A2

)
uxj

)∣∣∣∣
Γ

= 0,


� t ∈ S = [0;+∞)� 
���	� [u] 	���&�� 
���/	�� ���� ���	���  ���!�� u ��� ����'	
�
&���� �	���� Γ, Am = Am(t), m = 1, 2� ; ��
���  ���!�9�

*��
��	 ��	
���
◦
H2

α(Ω) �� ��������� ��	���� 
��&� ���������	 
� ����!�%
�	���'  ���!��� ��� ��
	�	�$��#�$ ��	�� 1�2 �� �	��	#

‖v‖ ◦
H2

α(Ω)
=

( 2∑
m=1

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx

)1/2

.

<�������	� 4	 
�� 
	���$�	9  ���!�9 v ∈
◦
H2

α(Ω) ���	��#�$
� ������	
�� ����
6��
��'
�

∫
Ωm

v2dx � κ
m
0

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx,

∫
Ωm

2∑
i=1

v2xi
dx � κ

m
1

∫
Ωm

xαm
2

2∑
i,j=1

v2xixj
dx, 1�2

���&	��� κm
0 =

(5 − αm)b4−αm

3(2− αm)(4 − αm)
� κ

m
1 =

2b2−αm

2− αm
� m = 1, 2�

��������� �	 56�7�8������ �96�:�6�9� 6�;�<
 1�2!132= 1�2= 1:2 ��6���>���� ?����
@
� u= ��� 6�;9�98���> ��8A<����

u ∈ L∞
���

(S;
◦
H2

α(Ω)), ut ∈ L∞
���

(S;L2(Ω)), 1=2
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !

��9�� 1,2 
 1�2= � ���9B 
���7��8��� �9�9B�
���

2∑
m=1

∫
Q(m)

(
−utvtAm − utvAmt + c(m)utvAm +

2∑
i,j,k,l=1

a
kl(m)
ij uxkxl

vxixjAm+ 1�2

+

2∑
i,j=1

b
(m)
ij uxjvxiAm + h(m)uvAm − f (m)vAm

)
dx dt =

2∑
m=1

∫

D
(m)
0

u1v Amdx

;8� ;9�
8��9C v ∈ L2(S;
◦
H2

α(Ω)), vt ∈ L2(S;L2(Ω))= ��� ��> 9D��B���E �9�
E= ;�

D
(m)
τ = Q(m) ∩ {t = τ}= τ � 0, m = 1, 2�

>�	&���� ���
���	 ��	�� �
������� �� �
��	
�� !$	"	 �	�������� ?�
��	 ���%
��
����� 4	 
�� �	� �!������ �������� 1�2 ���	��#�$
� ���� ��	��7

(A)7 a
kl(m)
ij , a

kl(m)
ijt ∈ L∞(Q(m))� a

kl(m)
ij = a

ij(m)
kl � i, j, k, l = 1, 2� m = 1, 2@

(B)7 b
(m)
ij , b

(m)
ijt ∈ L∞(Q(m))� b

(m)
ij = b

(m)
ji � i, j = 1, 2� m = 1, 2@

2∑
i,j=1

b
(m)
ij (x, t)ξiξj � bm0

2∑
i=1

ξ2i , (x, t) ∈ Q(m), ξ ∈ R
2;

bm0 +
am
0 γ1

κ
m
1

> 0� γ1 > 0� m = 1, 2@

(C)7 c(m), c
(m)
t ∈ L∞(Q(m))@ c(m)(x, t) � c0 � 0� (x, t) ∈ Q(m)� m = 1, 2@

(H)7 h(m), h
(m)
t ∈ L∞(Q(m))@ h(m)(x, t) � h

(m)
0 � (x, t) ∈ Q(m)� h

(m)
0 +

am
1 γ2

κ
m
0

> 0�

γ2 > 0� γ1 + γ2 < 1� m = 1, 2�


����
� �	 F���E ���9��A���� ��9�� G
H= GIH= GJH= GKH= GLH= 
= ��
� �979=

0 < A0m � Am(t) � A1m, A ∈ C1(S), t ∈ S;

f (m) ∈ L2
���(S;L

2(Ωm)), m = 1, 2; u0 ∈
◦
H2

α(Ω), u1 ∈ L2(Ω).

M9;
 
���> �6�7�8�����E �96�:�69� 6�;�<
 1�2!132= 1�2= 1:2�

N9��;����� 0	�"�����	 � 	/��
�� Q
(m)
T = Ωm × (0;T ) �������� 1�2� 
� T ; 
	���$��


	
���� &�
�	� .�/������� �	�����	� 8��������	 � ��"��
�

uN(x, t) =
N∑
p=1

CN
p (t)ωp(x),


� {ωp(x)} ; /��� ��	
�	��
◦
H2

α(Ω)� � CN
p (t) ���'	
��	 � ���	9 ��
�&�7

2∑
m=1

∫
Ωm

(
uN
ttωpAm +

2∑
i,j,k,l=1

a
kl(m)
ij uN

xkxl
ωpxixjAm +

2∑
i,j=1

b
(m)
ij uN

xj
ωpxiAm+

+c(m)uN
t ωpAm + h(m)uNωpAm − f (m)ωpAm

)
dx = 0, 1�A2

CN
p (0) = uN

0p, CN
pt (0) = uN

1p, p = 1, ..., N. 1��2



"
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

* ��	��' 1��2 
���� uN
0p, uN

1p ��/�����	 ���� 4	/

uN
0 (x) =

N∑
p=1

uN
0pωp(x), uN

1 (x) =

N∑
p=1

uN
1pωp(x),

���&	��� uN
0 (x) → u0(x) �

◦
H2

α(Ω)� � uN
1 (x) → u1(x) � L2(Ω) ��� N → ∞�

�	��	���	 �	��� �������� 
�
���� 1�A2 �� ��
�	��
��  ���!�# CN
pt (t)� ��

�%

����	 �	 p ��
 1 
	 N � �����"����	 �	 t ��
 0 
	 T � B�
�� !�' 	����!�� 	�������	
�����
�$

2∑
m=1

∫

Q
(m)
T

(
uN
ttu

N
t Am +

2∑
i,j,k,l=1

a
kl(m)
ij uN

xkxl
uN
xixjtAm +

2∑
i,j=1

b
(m)
ij uN

xj
uN
xitAm+

+c(m)(uN
t )2Am + h(m)uNuN

t Am − f (m)uN
t Am

)
dx dt = 0.

*��	��
�	��#&� ����"������� &�
������ �� ��	�� ��	���� �� 	
������	 	!����

B1

2∑
m=1

∫

D
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx � 1�,2

� B2

2∑
m=1

( ∫

D
(m)
0

(
(uN

1 )2 + xαm
2

2∑
i,j=1

(uN
0xixj

)2
)
dx+

∫

Q
(m)
T

(f (m))2dx dt

)
+

+B3

2∑
m=1

∫

Q
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx dt,


� B1 = min
m=1,2

min{A0m;A0mam0 (1− γ1 − γ2)}�
B2 = max

m=1,2
max{A1m;A1m(am1 + bm1 κ

m
1 + hm

1 κ
m
0 )}�

B3 = max
m=1,2

max{A1m+2A2m;A2m(am1 + bm1 κ
m
1 +hm

1 κ
m
0 )+A1m(am2 + bm2 κ

m
1 +hm

2 κ
m
0 )}�

� 
	
���� 
���� am2 , bm1 , bm2 , hm
1 , hm

2 , A2m ����� 4	 
����
��#�$
� ��	��7

2∑
i,j,k,l=1

a
kl(m)
ijt (x, t) ηijηkl � am2 xαm

2

2∑
i,j=1

η2ij ,

2∑
i,j=1

b
(m)
ij (x, t) ξiξj � bm1

2∑
i=1

ξ2i ,
2∑

i,j=1

b
(m)
ijt (x, t) ξiξj � bm2

2∑
i=1

ξ2i

h(m)(x, t) � hm
1 , h

(m)
t � hm

2 , (x, t) ∈ Q(m),

|A′
m(t)| � A2m, t ∈ S, m = 1, 2,


�� �
�' η ∈ R
4, ξ ∈ R

2�
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� #

<�
�	
	��#&� 
	 1�,2 ���� +�	��	���%?������� 	�������	

2∑
m=1

∫

D
(m)
T

(
(uN

t )2 + xαm
2

2∑
i,j=1

(uN
xixj

)2
)
dx � B4,


� B4 ; 
	
���� 
����� ��� �� �������$ ��
 N � C	��

‖uN‖
L∞((0;T );

◦
H2

α(Ω))
� B5, ‖uN

t ‖L∞((0;T );L2(Ω)) � B5. 1�32

.�'�� Sk = (0; k)� <"�
�	 � 	!������ 1�32 �	��� ��/���� ��
�	
��
	���
�$
{uN,N(x, t)} ����� 4	 
��  ��
	���	"	 k :

uN,N → vk ∗ − 
��/�	 � L∞(Sk;
◦
H2

α(Ω)),

uN,N
t → vkt ∗ − 
��/�	 � L∞(Sk;L

2(Ω)) ��� N → ∞.

B	���&��	 &���� u  ���!�#� ��� 
�� �	��	"	 k � Qk �/�"���$
� � v
k� D&���
%

�	� 4	 u ��
	�	�$��� ���#&���� 1=2� ���� �� 
'��	#� ����	�	�	���	# � (3)� ��"�	

	��
��� 4	 u /�
� ���"��$����� �	������	� ��
�&� 1�2;132� 1�2� 1:2� �

����
� �	 F���E ���9��A���� ��9�� G
H= GIH= GJH= GKH= GLH= 
= ��
� �979=

Am(t) > 0, A′′
m(t) ∈ L∞

���
(S), m = 1, 2, c0 � 0.

M9;
 6�;�<� 1�2!132= 1�2= 1:2 �� �9B� ���� D
8�O� 9;�979 �6�7�8����979 �96�:�6���

N9��;����� �	��
��	� 4	 ��
�	��
�� 	
�	��
�� ��
�&� � ���$	���� �	&���	����
��	���� ��� ��8� �������$��� �	�����	�� B������	

v(x, t) =

{ ∫ τ

t
u dθ, 0 � t � τ,
0, τ � t < ∞.

D&���
�	� 4	 v ∈ H1
���

(S;
◦
H2

α(Ω))� C	�� ������$�� �����
�$

2∑
m=1

∫

Q
(m)
τ

(
−utvtAm − utvA

′
m +

2∑
i,j,k,l=1

a
kl(m)
ij uxkxl

vxixjAm+

+

2∑
i,j=1

b
(m)
ij uxjvxiAm + h(m)uvAm + c(m)utvAm

)
dx dt = 0.

*��	��
�	��#&� ����"������� &�
������� 	
�����	

2∑
m=1

( ∫

D
(m)
τ

Amu2dx+

∫

D
(m)
0

( 2∑
i,j,k,l=1

a
kl(m)
ij zxkxl

(x, τ)zxixj (x, τ)+

+

2∑
i,j=1

b
(m)
ij zxj (x, τ)zxi(x, τ)

)
Amdx

)
=

=

2∑
m=1

(
−

∫

Q
(m)
τ

( 2∑
i,j,k,l=1

a
kl(m)
ijt Am(zxkxl

(x, τ) − zxkxl
(x, t))(zxixj (x, τ) − zxixj (x, t))+



$%
������ ������	

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

+

2∑
i,j=1

b
(m)
ijt Am(zxi(x, τ) − zxi(x, t))(zxj (x, τ) − zxj (x, t))+

+
2∑

i,j,k,l=1

a
kl(m)
ij A′

m(zxkxl
(x, τ) − zxkxl

(x, t))(zxixj (x, τ) − zxixj (x, t))+

+
2∑

i,j=1

b
(m)
ij A′

m(zxi(x, τ) − zxi(x, t))(zxj (x, τ) − zxj(x, t))

)
dx dt−

−2

∫

Q
(m)
τ

(c(m)Am −A′
m)u2dx dt+

+

∫

Q
(m)
τ

(c
(m)
t Am + c(m)A′

m −A′′
m − h(m))u(z(x, τ) − z(x, t))dx dt, 1�52


� z(x, t) =
∫ t

0
u(x, θ) dθ� >���� τ ��/����	 � ����' ��	�7

am0 γ1
κ
m
1

+ bm0 − 2τ(bm2 A1m + bm1 A2m) � 0,
am0 (1− γ1)

2κm
0

− 4τ � am0 (1− γ1)

4κm
0

,

am0 (1 − γ1)

2
− 2τ(am2 A1m + am1 A2m) � am0 (1− γ1)

4
, m = 1, 2.

C	
� �����
�$ 1�52 ������8��$
� � ��"��
�

2∑
m=1

∫

D
(m)
τ

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx � B6

B5

2∑
m=1

∫

Q
(m)
τ

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx dt,


� B5 = min
m=1,2

min

{
A1m; A1m

am0 (1− γ1)

2

}
�

B6 = max
m=1,2

max{(hm
1 )2 + 2A2m + 3(cm1 A2m)2 + 3(cm2 A1m)2 + 3(A3m)2;

2(am1 A2m + am2 A1m + (bm1 A2m + bm2 A1m)κm
1 + (hm

1 A2m + hm
2 A1m)κm

0 )},
� cm1 , cm2 , A3m ; ���� 
	
���� 
����� 4	 ��
	�	�$��#�$ ��	��

c(m)(x, t) � cm1 , c
(m)
t (x, t) � cm2 , |A′′

m(t)| � A3m, (x, t) ∈ Q(m), m = 1, 2.

<�
�	
	��#&� 
	 !��9 ������	
�� ���� 1(5)� 
�	�� ��,2� 	�������	� 4	

2∑
m=1

∫ T

0

∫

D
(m)
t

(
u2 + xαm

2

2∑
i,j=1

z2xixj

)
dx dt � 0


�� 
	���$�	"	 
	
���	"	 T � C	/�	 u(x, t) ≡ 0, (x, t) ∈ QT � D���� ��	���� , 
	��%

��	� �
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�� ������ ���
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�	
��
��#&� 
�����
�$� ����������	� 4	 f (m) ≡ 0� � Q(m)� m = 1, 2� 0	�"��%

���$
� 
�����
�$ ���$	�	"	 �	�������� *��
��	 �	���&����

ρ(u) =

( 2∑
m=1

∫
Ωm

(
u2
t + xαm

2

2∑
i,j=1

u2
xixj

)
dx

)1/2

.

��������� �	 F�8�9��E �96�:�69� 6�;�<
 1�2!132= 1�2= 1:2 ��6���>���� ��
E���
6� �����9���= ��P9 ;8� ;9�
8��979 ε > 0 6��E;����� ���� δ > 0= P9 �� �
8���
���9��>���� ��9�� ρ(u(x, 0)) < δ= �9;
 ρ(u(x, t)) < ε ;8� ��EB� ��
� t ∈ S�


����
� �	 F���E ���9��A���� ��9�� 
�������� �� >;��9��
 �96�:�6�� @
>C 6�;�<

;8� f (m) ≡ 0 � Q(m)= m = 1, 2= 
= ��
� �979=

2∑
i,j,k,l=1

a
kl(m)
ijt ηijηkl � 0,

2∑
i,j=1

b
(m)
ijt ξiξj � 0, h

(m)
t � 0, A′

m � 0, 1��2

;8� ��
� η ∈ R
4, ξ ∈ R

2, (x, t) ∈ Q(m), m = 1, 2� M9;
 ��8�9��E �96�:�69� ��
E��E 6�
�����9���� Q�P9 B= ;9;���9�9

c0 > 0, 1�:2

�9 ρ(u(x, t)) � B10e
−μtρ(u(x, 0)) ;8� ��EB� ��
� t ∈ S= ;� μ 
 B10 ! ;9;���
 ���8
�

N9��;����� .�'�� c0 � 0� C	
� �"�
�	 � ��	���� ��	���� � ������	
�� 1�,2 	
�����	

B1ρ
2(uN (x, τ)) � B2ρ

2(uN
0 ),


� τ ∈ [0;T ]� E T ; 
	���$�� 
	
���� &�
�	� D���� 
�� 
	
����$	 ������' N 	���%
����	

ρ(uN (x, t)) � B7ρ(u
N
0 ) � 2B7ρ(u(x, 0)), t ∈ S.

B����8	�8� 
	 "����!� ��� N → ∞� 	�������	
ρ(u(x, t)) � 2B7ρ(u(x, 0))

����� 
�� �
�' t ∈ S� C	
� 
�� 
	���$�	"	 ε > 0 ��/�����	 δ = ε/2B7 � � ��	��
ρ(u(x, 0)) < δ ��������� 4	 ρ(u(x, t)) < ε 
�� ����� �
�' t ∈ S�

.�'�� c0 > 0� �	��� �������� 
�
���� 1�A2 �	��	���	 
�	&���� �� ��
�	��
��
 ���!�# CN

pte
μt� � �	��� �� CN

p μeμt � ��

�����	 �	 p ��
 1 
	 N � C	
� 	
�����	

2∑
m=1

∫
Ωm

(
(vtt − 2μvt + μ2v)vtAm +

2∑
i,j,k,l=1

a
kl(m)
ij vxkxl

vxixjtAm+

+
2∑

i,j=1

b
(m)
ij vxjvxitAm + h(m)vtvAm + c(m)(vt − μv)vtAm

)
dx = 0,


� v = uNeμt� μ ; 
	
���� 
����� <����"�����8� �	 t ��
 0 
	 τ � ���	��
�	��#&�
��	�� 1��2� 1�:2� 	�������	
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2∑
m=1

∫

D
(m)
τ

(
A1m(vt)

2 + A1m(am0 (1− γ1 − γ2)− cm1 μκ
m
0 )xαm

2

2∑
i,j=1

(vxixj )
2

)
dx �

� B8ρ
2(uN (x, 0)), 1��2


� B8 = max
m=1,2

max{A1m; A1m(am1 + bm1 κ
m
1 + (hm

1 + μ2 + μ)κm
0 )}� μ � c0

2
� B�����8��	

�������
�$ 1��2 
�� uN � ��/���8� � !$	�� ���� μ ����� ������ 4	/ ���	������
$
��	��

am0 (1− γ1 − γ2)− μκm
0 (c1 +

1

δ
) > 0, m = 1, 2; c0 − 2μ � 0.

D
�����	

2∑
m=1

∫

D
(m)
τ

(
A1m(1− μδ)(uN

t )2 +A1m(am1 (1− γ1 − γ2)−

−μ(c1 + 1/δ)κm
0 )xαm

2

2∑
i,j=1

(uN
xixj

)2
)
dx � B8ρ

2(uN
0 )e−2μτ .

.�'�� B9 = min
m=1,2

min{A1m(1 − μδ), A1m(am0 (1 − γ1 − γ2) − μ(c1 + 1/δ)κm
0 )}� 
� δ ;

���� 
	
���� 
����� 4	 1− μδ > 0� C	
� � 	
����$	9 ������	
�� 	�������	

ρ2(uN (x, t)) � B8

B9
ρ2(uN

0 )e−2μt � 2B8

B9
ρ2(u(x, 0))e−2μt,

t ∈ S 
�� 
	
����$	 ������' N � B����8	�8� 
	 "����!� ��� N → ∞� 	
�����	
ρ(u(x, t)) � B10ρ(u(x, 0))e

−μt


�� ����� �
�' t ∈ S� 
� B10 ; 
	
���� 
����� ��� �� �������$ ��
 t� D���� ��	����
3 
	��
��	� �

������ �������	
��� 
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	���
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HIJ K�LJM NOPQRJK SIJ JTUVS�PW PX SYNJ PX NRVSJ PZ[�RRVS�PW \�SI ]VNJM
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